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309 EH/A (2)

1.

depicts what has actually happened.

(1) Ex-Ante (2) Ex-Post
(3) Constant (4) Variable

If the value of Investment Multiplier is 5 and the increased income is ¥ 800 crore in an economy, then find

the value of change in the investment in the economy.
(1) ¥ 4000 crore (2) ¥ 120 crore
(3) %400 crore (4) T 160 crore

Which of the following statements are true ?

(A) Quantitative tools control the extent of money supply by changing the CRR.
(B) There are two types of open market operations — outright and upright.

(C) A fall in the bank rate can decrease the money supply.

(D) Selling of a bond by RBI leads to reduction in quantity of reserves.

(E) The RBI can influence money supply by changing the rate at which it gives loan to the commercial
banks.

Choose the correct answer from the options given below :
(1) (A), (C)and (D) only
(2) (A), (B)and (D) only
(3) (B), (D) and (E) only
(4) (A), (D) and (E) only

Paradox of Thrift means :

(1) If all the people of the economy increase the proportion of income they save, the total value of

investment in the economy will not increase, it will either decline or remain unchanged.

(2) If all the people of the economy increase the proportion of income they spend, the total value of

savings in the economy will not increase, it will either decline or remain unchanged.

(3) If all the people of the economy decrease the proportion of income they save, the total value of

savings in the economy will not increase, it will either decline or remain unchanged.

(4) If all the people of the economy increase the proportion of income they save, the total value of savings

in the economy will not increase, it will either decline or remain unchanged.
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1.

ST aTEE H g3, W FEAE |
(1) et () Trd
(3) fer (4) ufEdHT

afe fordt sTefeaea 7 fHamT 70Tk 1 g2 5 2 7R 91 g3 371 T 800 FS €, T Hefawe § forst  wfaa st
T 1 HIT |

(1) T 4000 F (2) T120FS
(3) T400FIS 4) T160 S
e d - @ Fem a8 2

(A) TRHATOTTCHE ITHLOT EY. TR, H TRE ek 3T AT 6T 7T T 5T 2 |

(B) T ST T foramd 2 rerm Y Breft & — rewred ST e |

(C) e T H e & e S # st 317wl € |

(D) SARST.3ME. ST sitg <l forshl & shrwit (oeteh) s A o st o1t 2

(E) e frstdl sfep aforfoersh sieht el 578 30 oX 0T T 2, 39 Tgciaht &7 SATfd o1 STferd ot Wk 2 |
Fr e T et & & W SO -

(1) e (A), (C) 3R (D)

(2) *ad (A), (B) 3R (D)

(3) e (B), (D) 3 (E)

(4) I (A), (D) 3R (E)

TR o forromme 1 379 2 ;

(1) afe sreferaren & et AT 1Ry 8 e o S1Ta H afg e €, @ sreferaer & frarw st et qe T ae,
IE AT A1 HH TR AT ARSI T |

(2) Al Srefeawer & |t AT ST & @ o ST § Jheg A 2, AT STfea & Sred 1 Fd qod Al SR,
T AT 1 hH BT AT AR T |

(3) TG TfeaeeT & @it AT ST orq o ST § AT Ld €, AT STeferaeelt H s 1 et Hed el seT,
I8 AT QN HH ST AT AT e |

(4) afs srefcrereen &t AT 1R H s % ST H gfg R €, T STefoaaweT H e i ot qod T 9,
I8 T QN A S AT AT T |
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5.

Match List-I with List-I1I :

List-I List-II

(A) Bank Rate (I)  Securities are pledged in order to repurchase

(B) Marginal Standing Facility (I)  Minimum rate at which funds are provided for long term

(C) Repo Rate (III)  Also known as Penal Interest Rate

(D) Reverse Repo Rate (IV)  Central Bank borrows funds from commerical banks

Choose the correct answer from the options given below :
1 @A) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)-(D, (B) -, (C) - (@), (D) - (IV)
(3) (A)- @), (B)- D), (C) - 1V), (D) - (1)
(4) (A)- (D), (B) - AV), (C) - (D, (D) - ()

Which of the following is not a function of Central Bank ?

(1) It controls the money supply in the economy through different rates.
(2) It acts as a banker to the government.

(3) It accepts deposits and give loans to people.

(4) It issues the currency of the country.

Article 112 deals with :
(1) Consolidated Fund of India (2) Public Account
(3) Union Budget (4) Contingency Fund

All those elements which create liability and decrease the assets of government are known as :
(1) Capital Receipts (2) Capital Payments

(3) Revenue Receipts (4) Revenue Payments

Arrange the following elements in correct chronological sequence (earliest to latest) :

(A) Smithsonian Agreement (B) Bretton Woods Conference
(C) Establishment of WTO (D) Gold Standard

Choose the correct answer from the options given below :

(1) (@A), B), (C), (D) 2) (D), (B), (A), (C)

(3) (D), (A), (B), (O) 4 (©),(B), (D), (A)

SPACE FOR ROUGH WORK / T% &t % fotu g



309 EH/A (5)

5.

Feft-1 3 Fe-11 1 et Hifer :
Teit-1 Heit-11
(A) THH () St st geie e o forg, Freft T s &
(B)  wid wurht gferen (1) =am & o w dretafes & g o Suerey s S 8
(C) T (III) SSTcH SIS &L o &9 § ot ST S1ar &
(D) SR (IV) T sk TS Sfoht & & SUW T &
=t faw T forepedt 7 & wE ST -

(1) (A)- @, (B)- (1), (C) - (1), (D) - (IV)
(2) (A)- 1D, (B) - (D), (C) - (I), (D) - (IV)
3) (A)- (D, (B)- (D), (C) - (IV), (D) - (IIT)
(4) (A)- ), (B) - (IV), (C) - (D), (D) - (II)

Freaferfiaa & & sH-|1 s S w1 & 78T 8 9

(1) o8 TT-3TT S o HTEAH § STefeaee1 § qaT hi STfT bl Freifa sar 2 |
(2) IE TR o fIC Tk S & &9 8§ il AT & |

(3) IE ST TR AT & ST ANTH ol 0T ST # |

(4) 8 <7 T AT I T2 |

HIDE 112 G HEA &

(1) T o1 GHTHRT I (2) GrESI(e @A

(3) HEF I (4) SATHRAT BT

3 i I ST ST YT R & SR TR hl ITETT ol o hid &, 3¢ el ST e :
(1) dsfra wiftqar (2) ST T

(3) T~ra yifeqat (4) TSI A

ffrfaa qeat ht |Et HATTsRA (T=aw & Teiaw) H saferd 1 :

(A) T gagiiar (B) i I8 G
(C) Tog IR T St TITI=T (D) vl qHH

et fo e oo & € weT ST |

(1) (A), (B), (C), (D) (2) (D), (B),(A), (C)
(3) (D), (A), (B), (C) 4) (C), (B), (D), (A)

SPACE FOR ROUGH WORK / T% &t % fotu g
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10. Under flexible exchange rate, when the price of domestic currency in terms of foreign currency increases, it
is called
(1) Depreciation of domestic currency
(2) Appreciation of domestic currency
(3) Devaluation of domestic currency

(4) Revaluation of domestic currency

11. Match List-I with List-II :

List-I List-1T
(A) Pegged exchange rate system () Setting up of IMF and World Bank
(B) Managed floating (I)  Fixed exchange rate system
(C) Bretton Woods Conference (III)  Dirty floating
(D) Third element in BOP (IV)  Error and Omission Account

Choose the correct answer from the options given below :
() (A)-D, B) - (@), (C) - (1), (D) - (IV)
(2) (A)-{D, (B)- ), (C) - (@), (D) - (IV)
(3) (A)- (@, (B)- I, (C) - (IV), (D) - (1)
(4) (A)- ), (B) - (IV), (C) - (D), (D) - (IT)

12. Casualization of workforce would result in :
(1) Decrease in the vulnerablility of the workforce.
(2) Increase in the vulnerability of the workforce.
(3) Increase in the number of regular workers.

(4) Income and employment stablility.

13. Choose the correct chronological sequence in ascending order (earliest to latest) :
(A) Establishment of NABARD
(B) FRBMA (Fiscal Responsibility and Budget Management Act)
(C) Third Five Year Plan
(D) Nationalization of RBI
(1) (A), (B), (O), (D) (2) (A),(C), (B), (D)
(3) (D), (A), B), (C) 4 (D), (C), (A), (B)
SPACE FOR ROUGH WORK / T% &t % fotu g
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et forfmrer & 3 ea, s foreeft e & e § wtey qar ot i sedt 8, 30

10.

11.

12.

13.

(1) =R T 1 HeTsTE
(2) R 3T Bl el
(3) EIC] HRT T ST
(4) B HET HT THHCAHT

(7)

Fef-1 ST -1 1 e hif
-1 eit-11
(A) AfrRifea fafme e gomeft ()  SATE.UH.UE. 3R o s i Tmaan
(B) Ufasfer fowdt () Rer fafm gt yormeft
(C) e I8 gHied (1) FEega @
(D)  3Ferft Hfer. H e o (Iv) AR AT @
et fog T forepedi 7 @ wet ST |

(1) (A)- (1D, (B) - (1), (C) - (IIT), (D) - (IV)
(2) (A)- (D), (B) - (I, (C) - (I), (D) - (IV)
(3) (A)- D, (B)- D), (C) - (IV), (D) - (IIT)
(4) (A)- (1), (B) - (IV), (C) - (D, (D) - (IN)

W%msﬁwwm:
(1) hrieret sl erar | AT |

(2) HrdaA hH HEd H I |

(3) frafia senfa i gen § gfg |
(4) 3T 3R UsTR T |

TR 3Rt (ST & Tefirer) & Het hIeTIsh < -

(A) FTSITS sht TATOAT

(B) U®.3TR S .TH.T, (TSI JALETTIed TR swie Jaier iferfam)

(C) et deraffer AT
(D) AR ATS. T TSI
(1) (A), (B), (C), (D)
(3) D), (A), (B), (C)

(2) (A),(C), (B), (D)
@ (D), (O), (A), (B)

FETIAETE |
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14.

15.

16.

17.

18.

implies that resource extraction is not above the rate of regeneration of resources and the

wastes generated are within the assimilating capacity of the environment.
(1) Absorptive capacity (2) Carrying capacity
(3) Subsistence capacity (4) Exhaustive capacity

Government of India enacted the Right to Education Act in 2009 to make free education a Fundamental

Right of all children in the age group of years.
(1) 4-10 2) 6-12
3) 6-14 4 8-15

Following are the sources of electricity generation in India. Arrange them in correct sequence on the basis

of total power generation capacity (higher to lower) :

(A) Nuclear

(B) Thermal

(C) New and renewable energy

(D) Hydro

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) ) (A), (©), (B), (D)
(3) (B),(C), (D), (A) @) (B), (D), (O), (A)

Arrange the following items in correct sequence :
(A) Competition Act

(B) FEMA

(C) FERA

(D) MRTP

Choose the correct answer from the options given below :

(1) (A), (B), (O), (D) (2) (A),(C), (B), (D)
(3) (D), (C), (B),(A) 4 (©),(B), (D), (A)
The Great Leap Forward (GLF) campaign was initiated in

(1) 1948 (2) 1938

(3) 1958 (4) 1942

SPACE FOR ROUGH WORK / T% &t % fotu g
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14. T AT & Tof TOTe Fahfor HTe o TecdTed ol 3 § SR a1 § TR 3cqwT STUTRTE Taiaor shi
STCHETT A i 1T o fiaT 2 |
(1) TN A sl &AmaT (2) I &gHAT
(3) Tt amar (4) Gaor aar

15.  9TQ R 2009 # TRre 1 stferepr stfafrem am fora anfer f.37eeh et 1 Y o 3T T
Tft sl o1 Hifeteh STRIGR ST ST 4 |
(1) 4-10 (2) 6-12
(3) 6-14 4 8-15

16. WA ¥ forstett Ieamen o ffetRad & € | et forsTelt STaTe &t o STTER T 37 Hel 3hH (Isaad 8 =<I7ad) |
ST L :
(A) 9T
(B) ot
(C) T SR Fel il Ssit
(D) gt
i fa T foreredt & & @t ST -
(1) (A), (B), (©), (D) 2) (A),(C), (B), (D)
(3) (B), (C), (D), (A) 4 (B), (D), (O), (A)

17.  Ffafad sqel i @ A sgafierd i :
(A) et stferfem
(B) AT (THETAT,)
(C) THI.IAT.
(D) TH.ATI .
et fog T forepedt 7 @ Wt ST
(1) (A), (B),(C), (D) (2) (A), (C), (B), (D)
(3) (D), (C), (B), (A) 4) (C), (B), (D), (A)

18. I AU BRaS (..U, ) AN ¥ 31 o T o |

(1) 1948
(3) 1958

(2) 1938
4) 1942
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19.

20.

21.

22.

23.

Match List-I with List-I1I :

List-1 List-I1
(A) Great Leap Forward D Protecting the future generation
(B) Mao Zedong (I)  Aimed at industralising the country on a massive scale
(C) Brundtland Commission (IIT)  Introduced the Great Proletarian Cultural Revolution
(D) Our Common Future (IV) Seminal Report that explained sustainable development as
meeting the basic needs of all for a better life

Choose the correct answer from the options given below :
(1) (A)- @, ®B)- 1D, (C) - A1), (D) - (IV)
(2) (A)-dD, (B)- D, (C) - (), (D) - AV)
3) @A) -D, B)- 1D, (C) - AV), (D) - (IIT)
4 (A)-dID), (B) - (IV), (C) - (1), (D) - (II)

Second phase of Green Revolution is termed from :
(1) mid 1960s to mid 1970s
(2) mid 1970s to mid 1980s
(3) mid 1950s to mid 1960s
(4) mid 1980s to mid 1990s

During 1980s, the growth rate in Pakistan improved on account of which of the following reasons ?
(1) Institutionalised process of technical change

(2) A good harvest

(3) Sustainable export of manufactured goods

(4) High amount of foreign direct investment inflow

When there is unexpected rise in the sales

(1) Aggregate demand would decline.

(2) There will be unplanned accumulation of inventories.
(3) There will be unplanned decumulation of inventories.

(4) Normal profit would be lower.

During festive season, the currency deposit ratio
(1) decreases (2) increases

(3) has no impact on it (4) first decreases then increases

SPACE FOR ROUGH WORK / T% &t % fotu g
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19.

20.

21.

22.

23.

(11)
Feft-1 3 Fe-11 1 et Hifer :
-1 eit-11
(A) U AT BREE () A Tl diet &t T Hn
(B) TTAT SIS (II) 3T 9 T W SR H T e
(C) Feecie mm (IlI) W& FSERT Fieehiceh Shifd T AT
(D) EHWT GTET ey (IV) |ad forehre i SE Site o forg @t i gi=met
ST T QU A o T H G arel e fare
et fow U forshedt # & wE SR T

(1) (A)- @, (B) -1, (C) - (1), (D) - (IV)
(2) (A)- 1D, (B) - (ID), (C) - (I), (D) - (IV)
(3) (A)- D, (B)- D), (C) - (IV), (D) - (III)
(4) (A)- ), (B) - (IV), (C) - (D, (D) - (II)

= Shifer o EL =T I FHET @S :

(1) 1960 % &1 & HET H 1970 o &1 & HET dh
(2) 1970 % EI1 % HET H 1980 o &1 & HET dh
(3) 1950 % 1 o TET T 1960 o ST o T qh
(4) 1980 % &1 o TET T 1990 o EITeh o TEA qh

1980 o 3o o SN, AT # forehre gt | fforfiaa o & fore oo & gom gt 2
(1) deriehT aftad sht TemTd gfshar

(2) =B ®HEA

(3) faffiia aget =1 gaa Frafa

(4) woaeT faeeft FasT e i S==r AT

11 forsht 7 sTyreenfyra afg nft, @

(1) e HITH HHT ST |

(2) T T AT S 20 |
(3) WTCTgET o1 AR STo€= grT |
(4) T AT HH BT |

TR o HIEH o G, HET ST ST
(1) FBSACATE | (2) TEIEIR|
(3) TR RIS TTS T B | (4) B Heare R sear? |

SPACE FOR ROUGH WORK / T% &t % fotu g
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24. European Monetary Union was created in .
(1) 1996 (2) 1994
(3) 1999 (4) 2002

25. Identify the correct statement in the context of Circular Flow of Income in a two sector economy :
(1) Household receives factor services from firms.
(2) Household invests while firm saves.
(3) Firms produce goods and services.

(4) Household supplies factor services to Government.

26. Identify the correct set of statements.
(A) Ex Ante Saving represents what is actually planned to save.
(B) Ex Post Saving represents what is actually planned to save.
(C) Ex Post Saving depicts what has actually happened.
(D) Ex Ante Post Saving represents what is actually saved.
Choose the correct answer from the options given below :
(1) (A)and (D) only
(2) (A)and (C) only
(3) (B) and (D) only
(4) (C) and (D) only

27. Match List-I with List-II :

List-I List-11
(Elements) (Features)
(A) Annual Financial Statement () Create liabilities or reduce financial assets
(B) Capital Receipts (II)  Trade surplus
(C) Capital Payment (III)  Main budget document
(D)  Export > Import (IV) Create financial assets or reduce liabilities

Choose the correct answer from the options given below :
(1 &) - @, B)- 1D, (C) - (1), (D) - AV)
(2) A -dID), B) - (D), (C) - AV), (D) - (II)
3) (A)- (D, (B)- (D), (C) - (IV), (D) - (IIT)
(4) (A)- ), (B) - (IV), (C) - (D), (D) - (II)

SPACE FOR ROUGH WORK / T% &t % fotu g
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24.

25.

26.

27.

T 3T HE T TS % feraT TR o |
(1) 1996 (2) 1994
(3) 1999 (4) 2002

31 &7 T AAHTEAT § 3T o =3h1 TATE o Ta¥ H Tl e hl T8=H hiferT :
(1) IR %Hf & FHeh Tard et 2 |

(2) RER e AT § Stefeh B o=d Ll © |

(3) H ST T WY AT e L ¢ |

(4) TNER SHN T HH HaT hl AT FLAT S |

YT % FEl GHE hl TE= |

(A) TR U BT o T STord i o folT ST FTT a4TS 1S R, SHehT Tidi e St 2 |
(B) o TR WfSHT Al | STl ol o foTT ST ST SIS TS ®, 3HehT S iRred st & |
(C) T e HfehT Tt & for ameaa F R gam 2 |

(D) U U qee SfhT e # T ST g8 €, SR St s € |

Fr o T et & & WY SO |

(1) e (A) 3R (D)

(2) A (A) #AR(C)

(3) e (B) ¥ (D)

(4) e (C) 3R (D)

Tei-1 3 -1 1 e i

-1 -1

@) (Feroramd)
(A) o foediafemer | (1) <Feriat snd o T afd et e s
(B)  YSia it (1l) SR AT
(C)  YSTa syt (1) T e ST
(D) i > emama (V) forter afEafT samd = SeTiET s &1 L
et fo T forepedt 7 @ Wt ST

(1) (A)- D, (B) - (D), (C) - (M), (D) - (IV)
(2) (A)- ), (B) - (), (C) - (IV), (D) - (II)
(3) (A)- (@, (B)- (I, (C) - (IV), (D) - (1)
(4) (A)- ), (B) - (IV), (C) - (D), (D) - (II)

SPACE FOR ROUGH WORK / T% &t % fotu g
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Read the following passage and answer the next five questions :

In our quest to increase agricultural production during the last five decades or so, we almost totally neglected the
use of compost and completely switched over to chemical fertilizers. The result is that large tracts of productive
land have been adversely affected, water bodies including ground water system have suffered due to chemical
contamination and demand for irrigation has been going up year after year. Farmers, in large numbers all over the
country, have again started using compost made from organic wastes of different types. In certain parts of
the country, cattle are maintained only because they produce dung which is an important fertilizer and soil

conditioner.

Earthworms can convert organic matter into compost faster than the normal composting process. This process is
now being widely used. Indirectly, the civic authorities are benefitted too as they have to dispose reduced

quantity of waste.

28. How is civic authority getting benefitted due to biocomposting ?
(1) They have to dispose increased quantity of waste.
(2) They don’t have to dispose any waste.
(3) Because civic authority has no role in waste management.

(4) They have to dispose reduced quantity of waste.

29. Choose the correct statement concerned with the passage :

(1) Earthworm takes equal time to convert organic matter into compost with respect to normal

composting process.

(2) Earthworm takes more time to convert organic matter into compost with respect to normal composting

process.

(3) Earthworm takes less time to convert organic matter into compost with respect to normal composting

process.

(4) Comparison between earthworm based composting and normal composting cannot be made.

30. Water bodies including ground water system have suffered due to :
(1) Biocomposting
(2) Chemical contamination and increased demand for irrigation
(3) Organic farming
(4) Increased fertility of land
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freferfaa ufieds it ug o ot uter woal T SR e

Tt dier GTeh o SR Y SCUTEH G shi S WIS H, TH TG o TN T T T e W FSRSTATS L fom AR
T TE § THTA Iaeh! hl X TG L T | SEEHT IO g GAT 1 ST AT § Icq1aeh WM T Sfehet TTe 0T &,
TR HEUT oh SHROT STl UMt W Stet fahTall st JohT g1 & ST féas ot Wit | &€ onet 6 T 8 | 931 W%
T wrd) wer § foramt T R & fafim werm 3 Stferers et @ 9 @ T ST T 3 o f 7 | 9w % 5 fewt A,
T 3T TE@Td haet TS, fohaAT ST & iTeh of e 3l ScATE ld & SiT ok He Ul 3otk 3R gt &1 SR
2|

U Sifereh TaTIl 1 HHTT @S AT5RAT T T H ST & W18 § 9e §ohd & | 379 9 NihaT o1 A &9 § 37T
forarT ST T & | STcael ®9 &, TR TR bt ¥t AT BielT & Fifoh of shei ol THUaH oA HE | ahid © |

28.  STITHTAIREI o SHICUT AR STFUISHTOT shT el AT & TaT © 2
(1) 3 el 1 G 83 AT T I AT TSaT 2 |
(2) IR Tt oft g % Fer o1 FueH T T Tgar 2 |
(3) HiifeR STAFTE Faler & ARTHH STfRreRToT 3t 1 firerT 7 2 |
(4) 3 HH HTAT § el BT 9T AT T2 2 |

29.  URRE ¥ Wil wel o T
(1) HIT T BT @S S 3h1 STshAT o Eeel | HTalfeh TaTell i @18 § aaei H e §i e ¢ |
(2) T T FTHI @G ST T TTHAT F Feer F shrel 1ok TaTT bl @G H e | STiereh Joe ora 2 |
(3) T T FTHT WG ST hl TTHAT o Teer & sh1ei ok TaTT bl @G H Srae H HH TH T ¢ |
(4) T i e fmtor i am=r @re fFmfor o e qerr T i S wRdt ¥ |

30. STt YOIt |ied Siot fehrat sht FfcTfiad ST € e g3t e :
(1) SRR
(2) TR Hgwor 37 s i el 7iT
(3) Sifere @t
(4) ofT s SaaTH i
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31. In certain parts of the country, cattle are maintained only because they
(1) Produce milk to increase income of farmers
(2) Produce dung which is an important fertilizer and soil conditioner
(3) Work as insect repellants

(4) Are a symbol of traditional ethics and values

32. What should be the suitable title for the above passage ?
(1) Biocomposting (2) Biopest Control
(3) Traditional Knowledge and Practice (4) Uses of Chemical Fertilizers

Read the following passage and answer the next five questions.

India had an independent economy before the advent of the British rule. Though agriculture was the main source
of livelihood for most people, yet, the country’s economy was characterised by various kinds of manufacturing
activities. India was particularly well known for its handicraft industries in the fields of cotton and silk textiles,
metal and precious stone works etc. These products enjoyed a worldwide market based on the reputation of the
fine quality of material used and the high standards of craftsmanship seen in all imports from India. The
economic policies pursued by the colonial government in India were concerned more with the protection and
promotion of the economic interests of their home country than with the development of the Indian economy.
Such policies brought about a fundamental change in the structure of the Indian economy — transforming the
country into a supplier of raw materials and consumer of finished industrial products from Britain. Obviously, the
colonial government never made any sincere attempt to estimate India’s national and per capita income.
Some individual attempts which were made to measure such incomes yielded conflicting and inconsistent results.
Among the notable estimators — Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C.
Desai — it was Rao, whose estimates during the colonial period were considered very significant. However, most
studies did find that the country’s growth of aggregate real output during the first half of the twentieth century

was less than two per cent coupled with a meagre half per cent growth in per capita output per year.

33. Before the British rule, India was well known for which manufacturing industries’ products ?
(1) Cotton and Silk or Khadi textiles
(2) Cotton and Engineering products
(3) Cotton and Silk textiles, metal and precious stones, etc

(4) Engineering goods and precious metals
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31. O S (SEEl H, AT T WS shalel $aTeTS, fohalT ST @ it o
(1) Torami sht Srer g o foTQ ger bt Seured shed &
(2) TR, ST U Hewul Jateh ST g SHEieR R, T Ieaned i &
(3) Fre fatsh & w9 4w &
(4) OROfE AfdeRar 3R qeat & S o

32. 9 U= o foTq 3T 21k a1 ST =ITTeT 2
(1) STEEREIRET ) Sa-e frE
(3) UTafe J ST e (4) THETI(e SR T STFNT

FrfceTRaa uftsss 1 ug 31X STTet uter T9aT T 3T A :

TSITERT ST 6T TITOAT & Y& R 2T 70T T STefeaareelt off | Tt SH-HmH1=T 3l SATSAforhT S SR i ST
e Gid i o, {5 oft a1 it sreferaeern # fafir= weer i fafrmior wfafafermt & @ off | gt & wrlt st arg
ST AT SgHe HUT-Te ST & ST RICTshet il o 3chte ohg o 9 H Wi fored w1 H GioreaTd 1 <[oh1 o1 | 9 §
T 37 <fiS Y fovg & ae # 1=t "l o T 9T S=u TT Sl ShollcHeRdT o TR T et gfasar of |
sftufafirs smeeRt g i iferit 1 e v i enifiien ferere T sfeeh 1o Wt 3w % enififeR et o
ETETOT ST Herei & o | 37 Al = AT sht STeleaaeT o TET % 7o 9 i §6ct STAT | I, $AS i ol AT hl
Tl S qUT 8T o S AT AT 2T ST LA T <1 S L T8 T | TrTioreh € ot fof siafaafares wreeni 4 it 3
SR 3hT TG T Wl SATeRq ST T TR et T T AR § hlS TATE a1 (AT | 5 QT o i T o AThe
o, O STk SFAT  fer@imicat S STroelt qavie off @ & | 37 ATherTohaiatl § aTarrs IS, faform ferlt, fheet
T, 21, oftah. e, e dur STRE. SuTE T T € | e Fiet % SR €6, T g I Y AEE Sgd
wETEUl A ST € | T oft, et srerreRdl e o W e w € TR 2080 wraredt % qais # AR i Fiot anediaen
SeqTed 1 Tty U 2 faerd & o € @ e ufd safe Seared dfe &t dn w @ st € @ T |

33.  forfesr o @ ueat, v formr fafmitor S Seute o fore ST St o 2
(1) & o = A1 @l & HIS
(2) Fu IR ShfFafer sar
(3) Hft =T % UL, U] AT SR TG AiT-Ie e
(4) Shfafor & am S it g
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34, What kind of interests was the colonial government concerned with in the economic policy for Indian

industries ?

(1) To promote the handicraft industries of India

(2) Promote and protect small scale industries of India

(3) Protect and promote the economic interests of Indian industry along with their home country

(4) Provide protection and promotion of the economic interests of their home country

35. Choose the economists who estimated India's National Income and Per Capita Income.
(1) Dadabhai Naoroji, William Digby, Bernier, V.K.R.V. Rao and R.C. Desai
(2) Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C. Desai
(3) Dadabhai Naoroji, Jagdish Bhagwati, V.K.R.V. Rao and R.C. Desai
(4) Dadabhai Naoroji, Findlay Shrirras and V.K.R.V. Rao

36. What was the country’s growth of aggregate real output during the first half of the 20th century ?

(1) The country’s growth of aggregate real output was less than two percent coupled with a meagre one

percent growth in per capita output per year.

(2) The country’s growth of aggregate real output was less than two percent coupled with a meagre one

and a half percent growth in per capita output per year.

(3) The country’s growth of aggregate real output was less than two and a half percent coupled with a

meagre half percent growth in per capita output per year.

(4) The country’s growth of aggregate real output was less than two percent coupled with a meagre half

percent growth in per capita output per year.

37. According to the passage, which of the following statement was true about Indian industries’ products ?
(1) Indian products were of inferior quality and cheap in the worldwide market.

(2) Indian products were promoted by the colonial government and competed with other countries’

markets also.

(3) Indian products enjoyed a worldwide market based on quality of material used and the high standard

of craftsmanship.

(4) Indian products’ raw material for primary goods was imported from the other countries and it helped

to increase export.
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34.

35.

36.

37.

(19)

Safaafimes smeent st TRt e it srifer fifa o forer at i faa o 2

(1)
2)
3)
4)

IR % BEARTET JT T FGTaT T

T o T JENTT ohl SGTET ST FHI IFhT T&TT AT

T 1 oh WY -ETY HIAT JENT o6 HAT(eAeh el 1 &1 AT 37N 3% sfgra a1
TS %1 o SFeIeR et ot SReTor ST Harde e

I STAMIGT 1 < STwai TR ohl TS 3T 37 Wil SAfh T T ST T & |

(D
2
3)
4)

STeTTS RISt farforem feveft, afier, <t . s oft. T o7t s . qus
FraTTS st faform femht, fheet famr, ot 6.3 At T ofit st ft. dwrd
2TeTTS IS, STeter e, o o, A, T it s, e

2TeTvTS AReh, fheet farere i ot o s, T

204 TS o YaIig, o S 91 6 el AT faieh 3cdra H T g g3 off 2

(1

2

3)

“4)

ST o et ARfoleh ScaTe | &t Tfcrerd | +ff 3w i g3 TR Wi o Wi 4k Ieared § weh Wicrwre sht Hrgedt
e

R0 o A ATTeh 3cATed W &1 WiRrd & oft i fg g% SR it a wity =afeh Searedt H ¢ wfawra i weht
e gt

X1 o A AT Icq1e | 315 Scrwrd | oft | g g8 AR Wl Iy Wi sATeh Scare H 37T wfewra sht
el afe ¥ |

¥ % e AR Icated | & e & oft 9 i g8 R uha av ufd safth Scdre 7 e wfawrd i
et afe ¥ |

ai=se o SITEN, frffiad o 8 H-81 o wd R ST o Icarai o o H |el o ?

(1
2

3)

4)

R IcqTE 3T 0TIt o6 o S Afreh TSR H & o |

VAT 3T Rl IATRTR TR ST SIQTaT fSaT SIaT o 3R 1= 290 o STsiil o a1y off gfaeqst i
ST oft |

RS IcTal o STFRT 2l S STt Sl =l Torar SR R1eq shiziel i 350 heAlcHehRdl o HTER T
forgreardt aTsT H ot wferst TS |

srerfies SEqEl % Y TRATT IcaTal 3 el Wit 1= Q=1 ¥ 3TTTd [T STt o 3R e ffa srer o
&G AT T |
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38. is a market where economic agents can freely exchange their endowments with each other.
(1) Market economy
(2) Centrally planned economy
(3) Aggregate demand based economy
(4) Aggregate supply based economy

39. Which of the following are correct statements ?

(A) Marginal Utility is the change in Total Utility due to consumption of one additional unit of

commodity.
(B) Two Indifference Curves intersect each other.
(C) Marginal Utility becomes Zero at a level when Total Utility remains constant.
(D) Diminishing Marginal Rate of Substitution does not affect Indifference Curve.
(E) Indifference Curve slopes downwards from left to right.
Choose the correct answer from the options given below :
(1) (A), (B)and (E) only
(2) (A), (C)and (E) only
(3) (A), (D) and (E) only
(4) (B), (D) and (E) only

40. Match List-I with List-II :

List-I List-IT
(Characteristic) (Implication)
(A) Equilibrium D Plans of all the consumers and firms in the market match
(B) Excess supply (II)  Demand decreases with an increase in income
(C) Inferior good (IT) ~ Supply is greater than market demand
(D) Price ceiling (IV)  Imposition of upper limit by government

Choose the correct answer from the options given below :
(1) (A)- @), (B)- D), (C) - (1), (D) - (IV)
(2 (A)- @), (B)- ), (C)- 1D, (D) - (IV)
(3) (A)- D, ®B)- (1D, (C) - V), (D) - (IIT)
4) (A) -1, (B) - AV), (C) - (), (D) - (I)
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38. T UHT SITSTR & STeT 3T1Tjeh Usie T &9 8 Th-G o A1 AT siqlared! ol STEMH-Ja L qehc ¢ |
(1) TSR 3Tefeareer
(2) s frar stdeamwen
(3) THT HIT ST STfTaeen
(4) THT (G AT SHefeTaeen

39. fefdfaad aa-a wuadi e ?
(A) HTHIT STATTAT S T T ST FTS 3h1 G oh BT et SHATHIAT § AR & |
(B) 21 SETEAAT oI5 Uh-GHL I I & |
(C) T et ST o Tt & <l WAl ST I € Sfreft € |
(D) Tt HiHid SToReemT ot & SeTEidT aIsh JTferd el e |
(E) SeTEdT a3k 9Td & 1d i Y 7R @A™ FaT & |
Fr forw T Feraedt 3 & e SO -
(1) e (A), (B) 3 (E)
(2) e (A), (C) 3N (E)
(3) e (A), (D) 3R (E)
(4) e (B), (D) 3 (E)

40. G-I 3 Fe-11 o AT i :

-1 -1
(Fororeram) ()
(A) Eqed () TSR @it STSIRTSTT I BHt sl TSHIE et @rdl 8
(B) e AT (II) 3T ¥ gfg o Aoy | | St 718
(C) Fmag (1) T ST AT AT & 377 &
(D) Hed T (IV) TTRR R ST ST 37 TR0y
et fow T forshedt H & wEl SR T

(1) (A)- (@, (B) - (1), (C) - (I1), (D) - (IV)
2) (A)- D, (B)- 1), (C) - (II), (D) - (IV)
3) (A)- D, (B)- (D), (C) - (IV), (D) - (IIT)
(4) (A)- I, (B) - (IV), (C) - (D), (D) - (II)
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41. When Elasticity of Demand Curve is 1 at every point on the Demand Curve, this curve is known as :
(1) Perfectly inelastic demand curve
(2) Perfectly elastic demand curve
(3) Rectangular Hyperbola

(4) Greater than unitary demand curve

42.  According to the Theory of Consumer Behaviour, Inequality p x, + p,x, <M is called the Consumer's

(1) Budget (2) Budget Set
(3) Budget Constraint (4) Budget Behaviour

43. Choose the correct statements from the following :
(A) Adam Smith is termed as Father of Modern Economics.
(B) J.M. Keynes gave the Theory of Income, Output and Employment.
(C) Four Sector Model =C +1+ G+ (X—-M)
(D) Store of value is primary function of money.
Choose the correct answer from the options given below :
(1) (A), (B)and (D) only (2) (A), (B)and (C) only
(3) (A), (B), (C) and (D) (4) (B), (C) and (D) only

44. Rearrange the given statements in proper chronological sequence in an ascending order (earliest to latest) :
(A) General theory of Employment, Interest and Money by Keynes.
(B) Mahalanobis was made a fellow of Britain's Royal Society.
(C) An Inquiry into the Nature and Cause of the Wealth of Nations by Adam Smith.
(D) The Economic Consequences of the Peace by Keynes.

Choose the correct answer from the options given below :

(1) (€), (D), (A), (B) (2) (A), (B), (O), (D)

(3) (A), (©), (B), (D) 4 (D), (A), (C), (B)
45. If there is no government and no foreign trade, then :

() G=T=M=X>1 (2) G=T=M=X=1

(3) G=T=M=X=0 4 G=T=M=X<1
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41.

42.

43.

44.

45.

el HIT Sk shi el AT <ok o Yo fefg T 1 BIelt 8, 1 56 <I5h bl el ST e :
(1) 98 TE ¥ SArER /T a5k

(2) 9 TE & AR AT a5

(3) SARATERR AT

(4) TS O fersk Ui a5k

SR SFTET o ST o STTAT, AR p x, + X, < M FHI STHIH Hl FHET TR |
(1) =i (2) TRET

(3) =i | (4) WE FIRR

frefetiiad & & wet svom =4 -

(A) TSH Frer &7 Y ARG T S Fel ST e |
(B) .UH. I I 371, Icare 3 USTR o forgia feam |
(C) IRAFIHSA=C +1+G + (X - M)

(D) ¥ T SR T HT AT 1 ¢ |

et fow g forshedt 7 @ wE SR T

(1) % (A), (B) 3R (D) (2) %= (A), (B) 3R (C)
(3) (A), (B), (C) ¥R (D) (4) %= (B), (C) 3R (D)
T 71T et T ST S (SITNAaH & FefIaH) T 3fed FITIshA H Jedaeerd e :

(A) =8 R S LA 3T SoeTrriie, $20Ee U At |

(B) TRIGHIfe 3 fore 3t et |iamget vl Te&s s TR |

(C) T e g U $aTa 3¢ & A= U shist 3% 3 doef ST =214 |

(D) I T € ShIHIHh hi-Gdads 3T g 1 |

et fog T forepedi 7 @ Wt ST

(1) (C), (D), (A), (B) (2) (A), (B), (C), (D)
(3) (A),(C), (B), (D) 4) (D), (A), (C), (B)
TS I TEHR AT & HIT IS ToaxT AR &1 &, A :

(1) G=T=M=X>1 (2) G=T=M=X=1
(3) G=T=M=X=0 (4 G=T=M=X<1
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46.

47.

48.

49.

50.

The value of Nominal GDP is $ 1100 and the value of Real GDP is $ 1000. Find the value of GDP deflator.
(1) 0.9 2 1.1
3 1 4) 038

Identify the correct statements :

(A) Stocks are defined over a period of time.

(B) Flows are defined over a period of time.

(C) Flows are defined at a particular point of time.

(D) Stocks are defined at a particular point of time.

(E) GVA at factor costs + Indirect Taxes — Subsidies = GV A at market prices.
Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (B), (C) and (D) only
(3) (B), (D) and (E) only (4) (C), (D) and (E) only

If the supply of final goods is assumed to be infinitely elastic at constant price over a short period of time,
Aggregate output is determined solely by the value of Aggregate demand. This is called

Principle.
(1) Aggregate supply (2) Aggregate demand
(3) Effective demand (4) Perfectly inelastic demand

Nominal Interest Rate =

(1) Real Interest Rate x Inflation Rate

(2) Real Interest Rate — Inflation rate

(3) Real Interest Rate / Inflation rate

(4) Real Interest Rate + Inflation rate

Value of MPS (Marginal Propensity to Save) is increased from 0.4 to 0.5. What would be the impact on
Multiplier ?

(1) The size of the multiplier would be increased.

(2) The size of the multiplier would remain same.

(3) Value of multiplier is undetermined with the given information.

(4) The size of the multiplier would be decreased.
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46.

47.

48.

49.

50.

Hifseh HeheT BlT] 3TE T Hed $ 1100 & 3T Aok Fohel SIS 3cATa 1 Hed $ 1000 & | Hehel Bile] 3cdTe
T fcreh shT T T I |

(1) 0.9 ) 1.1
(3) 1 4) 08
T YT T I

(A) TG T Ueh THATITY T TR foram ST ® |

(B) JTE I Teh THIATE o forg it foram Srar 2 |

(C) aITE =l Uk Ty Ty ot afteiyye fRam Srar |

(D) iaa ! Rt ek ffverd aa ww afenfya frar smar 2

(E) TG ARG T Hehed HTaded + ST T — IS = SIS qedll I Hohel qeatd |

et fog T forered # @ wet ST -

(1) e (A), (C) 3R (E) (2) ad (B), (C) H (D)

(3) % (B), (D) K (E) (4) %ad (C), (D) 3K (E)

afe e gl 1 AT T oA T § Re 7ed T qUl &9 § A=ER HHT ST €, 3 Q0 3Te shael aHl
Wi o A & feifa forar smar e | 50 fgia Fersmare |

(1) &g A (2) GuF AT

(3) STITelt T (4) o0 ¥ SedrerEr Hi

Hifseh (FTfHAeT) STt &t =

(1) SRefreh TSt & x HEhIT &
(2) ST SIS 3T — HEEHIT &
(3) dTEdforh STt X / HEehifd &
(4) dTEdToeh SATST aX + FEEHITA &

..U, (S o T Hwid yaifer) 1 e 0.4 | SQTeRt 0.5 T Fo=T 7T 2 | 0T O SEERT T ST T 2
(1) 70T T SRR g ST |

(2) TS T ST T & |

(3) TIUTe T 9o &1 TS SIHeRR] o &rel et =2t fera s & |

(4) U ST ST ¥ 81 ST |
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